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Honors Chemistry Stoichiometry Review
How many grams of hydrogen are formed from the reaction of 12.5 grams of potassium with

10.0 grams of water?

The decomposition of 125.0 grams of potassium chiorate produced 35 grams of oxygen. What is
the percent yield of oxygen?

Marble is 55.0% caic:um carbonate When calcium carbonate reacts with hydrochloric acid,
carbon dioxide gas Sand water are produced rather than carbonjc.aeidHGW many grams 6f - .
marble are needed to make 100.0 0 grams of carbon dmxudé G_C/ alo /)rao(um \\)

_i?_.;tn;ning coal in a power plant produces sulfur dioxide gas, a severe air pollutant, because the
cc;él, which is mostly carbon, contains a small amount of sulfur. When the coal is burned, the
suffur reacts with some of the oxygen in the air. What maés of sulfur dioxide is formed for each
metric ton of coal burned, if the coal is 1.50% sulfur?

Brass is an alloy, or mixture, of copper and zinc. When 150 gra'ms of a certain type of brass were
reacted with hydrochloric acid, 180 grams of zinc chloride were recovered, while the copper was

left unreacted. What is the percent of copper in the brass?

5.35 grams of 20.0% sodium phosphate solution are mixed with 3.68 grams of 35.0% barium
nitrate solution. How many grams of barium phosphate precipitate are formed?
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